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SEFR D ARIERIGHAE
B3 —2 BEWICERTSLEESNSHEICETHEE(/1) _ i REFE | THorA
SENEONE | BNBES 01251001 [ i | HEK—6 | FREEHh | TEPEERH] A FEEK B S E TR
AR O TIRICEET 51 SHERHA
?ﬁﬁg TEZEORBRIBOBFEIENDKRES TREDHEBEFIENDKRES TEZORBRIBDBEIENDKES TREOHERFSENDKRES
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7 100kN/mMZE#BZ25| 1.00 1000 ~ 206 131.83 |3m&EBZB| — ~ — — — | 100kN/miZEEZ5 | 1.00 | 11.27 ~ 1914 131.83 |3mEiEA% — ~ — — —
zhils 1.00 | 206 ~ 981 | 100.00 | Fhs | 0.00 ~ 981 | 2.60 13.12 zhst 1.00 | 500 ~ 1127 100.00 | Ths | 500 ~ 1914| 260 1312
2 100kN/mMZE#BZ5| 1.00 000 ~ 249 13899 |3m&E8BZB| — ~ — — — | 100kN/mMiEEZ 3| 1.00 | 1063 ~ 2115 138.99 |3mEEA% — ~ — — —
zh st 1.00 | 249 ~ 1027 100.00 | Fhs | 000 ~ 1027|273 13.79 zhst 1.00 | 500 ~ 1053 100.00 | =hds | 500 ~ 2115| 2.73 13.79
3 100kN/mMZE#BZ5| 1.00 1000 ~ 043 | 10639 |3mEBZB| — ~ — — — | 100kN/mi%EEZ5 | 1.00 | 1147 ~ 1300 10639 |3mEEA% — ~ — — —
Fhils 1.00 043 ~ 822 100.00 | Fhs | 0.00 ~ 822| 2.00 10.11 zhst 1.00 | 500 ~ 1147| 100.00 | Ths | 500 ~ 1300| 2.00 10.11
4 100kN/mM%E#BZ5| 1.00 1000 ~ 053 107.85 |3m&E8BZB| — ~ — — — | 100kN/m#ZBZ% | 1.00 | 1065 ~ 1221 107.85 |samEEZ 3 — ~ — — —
Fhils 1.00 | 058 ~ 831 100.00 | Fhs | 0oo ~ 831 211 10.69 zhst 1.00 | 5,00 ~ 1065| 100.00| Fhs | 500 ~ 1221 211 10.69
5 100kN/mMZE#BZ5| 1.00 1000 ~ 064| 109.50 |3mEBZB| — ~ — — — | 100kN/MZE#Z2% | 1.00 | 1099 ~ 1310 109.50 |3mEEZ S — ~ — — —
Fhilst 1.00 064 ~ 842 100.00 | Fhs | 0.00 ~ 842| 2.04 10.37 Thst 1.00 | 500 ~ 1099| 100.00 | Fhls | 500 ~ 1310| 204 10.37
g 100kN/mMZE#BZ5| 1.00 1000 ~ 033| 104.82 |3mEBZB| — ~ — — — | 100kN/MZ&# 25| 1.00 | 1185 ~ 1308 104.82 |3mE#Z 5% — ~ — — —
Fhils 1.00 {033 ~ 811 100.00 | #hs | 0oo ~ 811 1.97 9.98 zhst 1.00 | 5,00 ~ 1185 100.00 | Fhs | 500 ~ 1308| 1.97 9.98
100kN/ Mm% 25 ~ ImEBAD ~ 100kN/M#EB %5 ~ ImEFBAS ~
ZFhilst ~ zhils ~ zhilst ~ zh st ~
100kN/ Mm% 25 ~ ImEBAZD ~ 100kN/M#EB %5 ~ ImEBAS ~
ZFhilst ~ zhilst ~ zhilst ~ zh st ~
100kN/ Mm% 25 ~ ImEBAD ~ 100kN/M#EB %5 ~ ImEBAS ~
zh st ~ zh st ~ zh st ~ Zzh st ~
100kN/ Mm% 25 ~ ImEBAD ~ 100kN/M#EBZ5 ~ ImEBAS ~
zh st ~ zh st ~ zh st ~ zh st ~
100kN/ Mm% 25 ~ ImEBAD ~ 100kN/M#EBZ 5 ~ ImEBAS ~
zh st ~ zh st ~ zh st ~ zh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/M#EB %5 ~ ImEBAS ~
zh st ~ zh st ~ zh st ~ Zzh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/M#EBZ5 ~ ImEBAS ~
zh st ~ zh st ~ zh st ~ Zzh st ~
100kN/ Mm% B Z % ~ ImEBAD ~ 100kN/M#EBZ 5 ~ ImEBAS ~
zh st ~ zh st ~ zhn st ~ Zzh st ~
100kN/ Mm% Z % ~ InEHBZD ~ 100kN/M%EBZ5 ~ ImEHBZD ~
zh st ~ zh st ~ ZznLst ~ zh st ~
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